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(A) ns’np? (B)ns’np*  (C) ns’np’ (D) ns’np®
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C€) AHP>0  ASa®0 (D) AHR<0, ASm©<0
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(A=MHS GB=MHE (C) I+ (D) HE/NH
AL AT (402 SR T 5 B R — AN B AR R
(A) L B)YFEHH (O RNHEE D) EBEREH

v AgCl BEMATE T 7R —Fh il o s B E &/

(A) 0.01mol-dm? F/KIFR (B) 0.01mol-dm? S LB
(C) 4k (D)0.01mol-dm™ ¥ ERR AR
RFARRX BFREZ TR TRABRTH

A)s X B)p X OdEK (D) f X

. EBEN, KK H,(g)+Br,(g)=2HBr(g) 5 F 4 & 3 K* =4x102, IR &

2HBr(g) = H,(g) + Br, (g) WiirHe P E 52

(B) et (C) 4x107% (D)0
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(A)CO,” (B) HCO,” (C) HAc (D) S*
£ T 51 B e B A
Ni(s)+Cu* (aq) = Ni** (1.0mol - dm™) + Cu(s)
L% R A SRR, Cutt RN
(A)5.05x107 mol - dm™ B) 5.71x10™' mol - dm™
(©) 7.10x107" mol - dm™ D)7.56x10™" mol - dm™
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A, S8 MARE

1
(A) Ha(g) + 5 Oxg)=H20(g)  (B) Ha(g) + Cla(g) = 2HCI(g)

(C) CaO(s) +COx(g) = CaCOs(s) (D) Fe20s (s) + 6HCl(aq) = FeCls(aq) +3H-0 (1)

11, WE/KHIEERE N
A)0°C  B)YET 0°C (OfKTF 0°C (D)Fi%Hitr
12, BUTFRER, RERREOEAHL
~ (A)HF (B)Ag (OKF  (D)CO;
13, FHIFFEESETHRIERFHIINR

(A) 2522p2 (B) 3d*4s? (C)4f5s2  (D)3d%4s>

14, #. IR ZENRIRXR: RANAREFEE 10KT B3, FHkE SKIRELARRE, NESEHRN
FHEERMZRLE
(A)-15KJ (B) -5KJ (C) +5K7J (D) +15KJ

15, ETFILFRMZ ST, N5 ERMEFRFHRUNE
(A) BERMNGRNEE B) BEEAERKELT
(©) HERMYIKRE (D) HAERMEER
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1. B3R
(-)Pt|Fe**(1mol/dm?3),Fe3*(0.0 1mol/dm3)||Fe?*(1mol/dm?),Fe**(1mol/dm?)|Pt(+),
ZEBBMARRMA O , ERRRFMA @ .
2. X RAJIA KB EHEE S B RIENITE O g
(A) 0.1mol.Kg'CsH1206 (B) Imol.Kg'CsH120s  (C) 0.1mol.Kg'NaCl
(D) 1mol.Kg''NaCl (E) 0.1mol.Kg'CaCl, (F)0.1mol.Kg'HAc
3. NaCl. SiC. SiCl. CCLBFETFREENRE_®  , HMEBEIRNIRFEN_G .
4, BWEFELAA: _© 2R, _O o, HS BB, HEVmE_ ® .
5. FERBIFE 973K Bf K29 2.92X 102, 7E 1173K B K=4 1.04, ZRFA_ Q@  CGEARASMED KA,
HAH?=_© KJ/mol.
BT RNER, XREN _ O REELRE, _© 3N, BEREHK QG .
+ AgNO; BB Pt(NH3)sCls ¥R HO1 BT FIRUTIE A AgClL, RIBLL EESE, XMEAYMEME TR
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2. (84)) A TIIFMMEEY, FHEEFLEFAEAME. B TFHRBEME. EEHGIERRE)
(1) [CoCI(NH;3)s]Cl (2) Nay[SiFs]
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g, B3 ML

5. B7) HITFATHAM Ag|AgCl(s)|CI™ (C) ICL2 (g, p) | Pt B FBAR R3S, HEBhE RiRHEmZHE O
BTRECK Ch EANEHA%E?

6+ (10 53) FI¥iRMI: Pb% (aq) +Sn (s) =Pb (s) +Sp2* (aq), A
(D HET, REEEEER?
(2) ¢ (Pb*) =0.1mol'L", ¢ (Sn?*) =1.0mol-L'\ B, MRS E % ?

E510° (Pb2/Pb) =-0.1263V, 0° (Sn2/Sn) =-0.1364V

7. (699) BEHEE S B FHELRNEEXLLR TS,
PO, B/ (70 4)

L (1293) FEHEFSHE BAK 20.00cm? 0. 1mol-dm BEER VAL, FER I 0.1mol-dm=NaOH &, WitE.
(B51 Ka(HAC) = 1.76x10°5).
(1) 0.Imol-dm BEFR W 9 pH {8 FIBERR H AE BT
(20 ZIMA 10.00cm? 0.1mol-dm™ NaOH /5, 1R-E AW pH &
(30 ZMA 20.00cm? 0.1mol-dm™ NaOH /5, 1B-& W pH {&
2. (1290 B25°CH, POL AR A84x10~, k.
(1) PbL FEAL/K o () B
(2) ERIEIRF PO> FIT vk s
(3) £ 0.01mol.L'KI ¥ Pb>* (B FIkEE
3+ (1043)£373.15K 1 101.325kPa T, Hf Imol /K565 AL 1mol /K ZES, VRS R 4k 2 T 4 40.63K
HR:
(D BRBKITSIMED w =2 (KA 208 R
(2> HRAREHZEAU=?
4. (16 4)) B41: MnOy (aq) + 8H*(aq) + Se - = Mn?* (aq) + 4H0()  ¢” (MnOy/Mn2)=1.51V
» Ch (g)+2e-=2C1"  ¢° (Cl/CI')=136V ,
1 BE T R A SR e,
(1D HEZF B E
(2) 5 25°CH RBZHIAGn” (F=96485C-mol)
(3) B R ER
(4) BEITH, HpH=4, MEEEFKRELA 1.0mol-dm? , p(Cl) =100kPa B, M.
2MnOy (aq) + 16H*(aq) + 10C1~ (aq) = 2Mn?** (aq) + 5 Cl, (&) +8H0() REB H KiHIT?
5+ (1070 FEIREERT, 8mol SO 1 4.0mol O, 755 P 4028 o [ R4 i, SO A4, 1S A4 B A (R
B RGHATE 4 54 300 kPa F1 220 kPa, AFAEAHBERZEE T RN
250,(g) +0,(g) =250, (g) Mt F 4 %5 SO, fker =,
6. (10 ) FEF 2.0x10? mol/L CrO2#1 1.0x10° mol/L CrENR &R B ETINARH AgNOs VK,
FEABTRERE, W
(1D BRF I T e T 3k ?
(2) SRZMETFIFRITRN, B—FHkER LD
(BESIIA AgNO; JFHIATRA ML, K(AgC)=1.6x10"°, Ky(Ag2CrO4)=1.2x10-12)
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